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¥ 1@ (Future Value » FV)

Hign=3 » FIFEr=4%
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F EA] > B2 HIHME e : S RF1007L > FEFA]
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I e (Present Value » PV)

HHEIN=3 > FHIFRr=4%

| FV=112.4864
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104 108.16 112.4864
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% & 4 % & (FVOA)

HHEIN=3 > FHIFRr=4%
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| | |
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100 108.16
100 104

FVOA=108.16+104+100=312.16




T Hp & £ % e (FVAD)

HHEIN=3 > FHIFRr=4%

100 100 100

| | | |
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W Hp & £ 75 (PVAD)
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92.46 || 100

96.15 100

PVAD=92.46+96.15+100=288.61
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FVIF(3,8%)= ?

R IR

TR R D

1% | 2% | 3% | 4% | 5% | 6% | 7% V8% | 9% | 10%

Hp 1.020 | 1.030 | 1.040 | 1.050 | 1.060 | 1.070 || 1.080| 1.090 | 1.100

VAl

ﬁi 1.040 | 1061 1 1082 | 1103 | 1124 | 1145 11661 11881 17210

(n) 1.061 | 1.093 | 1.125 | 1.158 | 1.191 | 1.225 1.260 | 1.295| 1.331

1.082 | 1.126 | 1.170 | 1.216 | 1.262 | 1.311 1.360 || 1.412 | 1.464

1.104 | 1159 | 1217 | 1276 | 1338 | 1.403 || 1.469| 1.539 | 1.611

1.126 | 1.194 | 1.265 | 1.340 | 1.419 | 1.501 1.587 | 1.677 | 1.772

1.149 | 1.230 | 1.316 | 1.407 | 1.504 | 1.606 || 1.714| 1.828 | 1.949

1.172 | 1.267 | 1.369 | 1477 | 1.594 | 1.718 || 1.851 | 1.993 | 2.144

O ol 1IN fnm]|BAlWwWlibt]—
o (Ey

1.195 | 1.305 | 1423 | 1.551 | 1.689 | 1.838 1.999 || 2.172 | 2.358

1219 | 1.344 | 1.480 | 1.629 1.791 | 1.967 || 2.159 | 2.367 | 2.594

S
A @y E

.
—l

1.243 | 1.384 | 1.539 | 1.710 | 1.898 | 2.105 || 2.332 | 2.580 | 2.853

¢
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PVIF(3,8%)= ?
N

115 (1%) 4 B

b IR TEI; 'ﬁi /J\ o >
% | 7% || 8% Y| 9%

2% | 3% | 4% | 5% 10%
0030 | 0971 | 0962 | 0952 | 0943 | 0.935|| 0.926 |[0.917 | 0.909
0961 | 0943 | 0925 | 0907 | 0.890 | 0.873| 0.857 |[0.842 | 0.826
0942 | 0915 | 0.8%0 | 0.864 | 0.840 | 0.816|| 0.794 ||0.772 | 0.751
0024 | 0888 | 0855 | 0.823 | 0.792 | 0.763|] 0.735 || 0-708 | U683
0906 | 0863 | 0.822 | 0784 | 0747 | 0.713|] 0.681 ||0.650 | 0.621
0388 | 0837 | 0.790 | 0746 | 0.705 | 0.666|| 0.630 ||0.596 | 0.564
0371 | 0813 | 0760 | 0711 | 0.665 | 0.623|| 0.583 |[0.547 | 0.513
0853 | 0789 | 0731 | 0677 | 0627 | 0.582|| 0.540 |[0.502 | 0467
0837 | 0766 | 0.703 | 0.645 | 0592 | 0.544| | 0.500 || 0.460 | 0.424
0820 | 0744 | 0676 | 0.614 | 0558 | 0.508[ | 0.463 || 0422 | 0.386
0204 | 0722 | 0650 | 0585 | 0527 | 0.475|| 0429 || 0388 | 0.350
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& é}‘ ZX f_‘é; %\, FVIFA(5,10%)= ¢
FIFA%) A B > F & ¥ EH = x

wﬁ/)g 2% | 3% | 4% | 5% | 6% | 7% V8% | 9% | 10%
1 “ | 1000] 1.000] 1.000] 1.000] 1.000] 1.000] 1.000] 1.000] 1.000
2 B 00 2030 2040 2050] 2,060 2070 2080 2000 2100
3 (N) 3060 3001| 3.22| 3.153| 3.84| 3215| 3246| 3278| 3310
4 B [ 4122| 4184| 4246 4310] 4375] 4440 4506] 4573 4641
5 5 | s0204| 5309 s5416] 5526| 5637 5751 5867| 5985 6.105
6 | 6308| 6468| 6633 6802] 6975| 7.153| 7.336| 7.523] 7.716
7 £ | 7434| 7662| 7.898| 8.142| 8394| 8654 8923 9200 9.487
g 4 | 8583 8892 9214 9549 9.897| 10.260] 10.637] 11.028| 11.436
9 % | 9.755] 10.159| 10.583 | 11.027| 11.491| 11.978| 12488 13.021] 13.579
10 o 10.950 | 11.464| 12.006| 12.578 | 13.181] 13.816| 14.487| 15193 | 15.937
11 é{ 12.169| 12.808| 13.486| 14.207] 14.972| 15784 16.645| 17.560] 18.531

<
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PVIFA(5,10%)=?

£ £ B

-

N
]

TZ (%) A5 > &Ebmimfl -
9% 10%

2% | 3% | 4% | % | 6% | 1% 8%

=

0980 | 0971 00962 00952 0943 | 0935| 0926| 0917} 0.909

| 1942 1913 1ss6| 1850 1833| 1808| 1783 | 1759} 1736

2884 2829| 2775| 2723| 2673 2.624| 2577| 2531) 2487

= o

308 | 3717 3.630| 3.546| 3465| 3387| 3312| 3240) 3170

4713 | 4580 | 4452 4320 4212] 4.100| 3993 3890 3.791

5601| 5417| 5242 5076 4917| 4767| 4623 4486 4355

64721 6230 6.002| 5.786| 5.582 5.389 5206 5.033|| 4.868

7325 7.020 | 6.733 6463 | 6210 5971| 5747, 5.535| 5.335

D
;
X
S| 8.162| 7.786] 7435| 7.108| 6802| 6515| 6247 5.995| 5759
| 8983 8530| 8111| 7722 7.360| 7.024| 6710 6418 6.145
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o I (# £)&E £ ¥ iE(FVOA)
% E &% E4 > FVOA=PMTxFVIFA(N, |%)
o T Hp(Hp4~)E £ % B (FVAD)
% E &% 2 > FVAD=PMTxFVIFA(n, 1%)x(1+1%)
o I il (# x)# & IR E(PVOA)
% E £ E4 > PVOA=PMTxPVIFA(N, |%)
o T Hp(#p4-)E & R & (PVAD)
4 # £ E % > PVAD=PMTXPVIFA(n, 1%)x(1+1%) *°
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PV=100 FV=97 9

F 13 F24] 3

Set=End > n=3 > 1%=4 > PV=-100 > PMT=0
—->FV=112.4864
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Ik e (PV)

HHE=3 - EHIRIR=4%

PV=77 FV=112.4864

| | | |
F 13 F24] 3
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¥ & £ % E(FVOA)

HHE=3 - EHIRIR=4%

100 100 100

| | |
F 13 F24] 3

Set=End > n=3 > 1%=4 - PV=0 > PMT=-100
—->FV=312.16

27



i £ £ % B (FVAD)

HHE=3 - EHIRIR=4%

100 100 100

| | |
F 13 F24] 3

Set=Begin > n=3 > 1%=4 > PV=0 > PMT=-100
—->FV=324.6464
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100 100 100

| | |
F 13 F24] 3
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W Hp & £ 75 (PVAD)

HHE=3 - EHIRIR=4%

100 100 100

| | |
F 13 F24] 3
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